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CIELAB & TUBJND normiert fur die CIELAB & TUBJND normiert fur die
2 UmgebungshelligkeitL* , 2 UmgebungshelligkeitL*
L ruganp=d In [ 1+ b-(Y/Yy)] d=25,6 b=6,141 [2a] L*ruganp=d In [ 1+ b (Y/Y,)] d=25,6 b=6,141 [2a]
L* ceLas =116(Y/Y,)-16 (Y,=100, 0,8% Y) [2b] L* cieLag =116(Y/Y,) =16 (Y,=100, 0,8% Y) [2b]
regularitatsindex: g*s=99, g%=99, [ISO 15775
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CIELAB & TUBJND normiert fur die CIELAB & TUBJND normiert fur die

2 UmgebungshelligkeitL* 2 UmgebungshelligkeitL*

L*tugano=d In [ 1+ b (Y/Yy)] d=25,6 b=6,141 [2a] L*tuganp=d In [ 1+ b2 (Y/Y,)] d=25,6 b=6,141 [2a]

L* cieLag =116(Y/Y,)-16 (Y,=100, 0,8% Y) [2b] L* cieLag =116(Y/Y,) =16 (Y,=100, 0,8% Y) [2b]

regularitatsindex: g*s=30, g%=23, [ISO 15775 regularitatsindex: g*s=88, g*%=74, [ISO 15775
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